KANGOUROU MATHEMATICS COMPETITION Benjamin
Level 5-6

3 point problems - 8¢paTa 3 povadwv

1. Arno spelled the word KANGAROO with cards showing one letter at a time.
Unfortunately some cards were tipped. Tipping back twice he can correct the letter K
and tipping once he can correct the A - see the figures. How many times does he need
to tilt for all of the letters to be correct?

O Arno xwpioe Tn A¢€n KANGAROO o€ KapTeC deixvovTac Jia kapTa Kade popa.
AuoTUXWG, KANOIEC KAPTEC ATAV O KN kavovikn B€on. MNa va diopdwoel To ypapua K
npEnel va yupioel dUo PopeC nNpog Ta de€ia TNV KApTa Pe To ypauua K kai pia popd npog
Ta apIoTEPA TNV KAPTA WE TO Ypappa A- BAENE To oxnua. MNooec popéc Ba xpeiaoTei va
yupioel Ta ypaupaTa, woTe OAa va gival oTn owoTh 6éon;

A>=ZGIVIRIOIO

A

AIK
~

Al>

(A)4 (B)5 €6 (D)7 (B)8

2. A cake weights 900 g. Paul cuts it in 4 pieces. The biggest piece is as heavy as the 3
others weight altogether. What's the weight of the biggest piece?

Mia ToupTa {uyiCer 900 g. O Paul Tnv Ekowe o€ 4 KOPUATIA. To PEYAAUTEPO KOUUATI
CuyiCel 600 Ta GAAa Tpia koppdTia pad. Moo uyilel To PeyaAUTEPO KOPKATI;

(A) 250 g (B) 300 g (C) 400 g (D) 450 g (E) 600 g

3. Two great rings, one grey, one white, are linked in each other. Peter, in front of the
rings, sees the rings as in the picture. Paul is behind the rings. What does he see?
AUo peyaha daxTuAidia, éva ykpido, Eva aonpo, sival evwuéva Petagl Touc. O Peter,

OTEKETAI UNPoaTa anod Ta dayTuAidia, kal Ta BAENel ONwG paivovTal oTny €ikova. Twpa o
Paul BpiokeTal niow ano Ta dayxTuAidia. Nwg Ta BAENe! ;

@D
(A) @ (B) @ (© @ (D) @ (B)
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4.

In the following addition, some of the digits have been replaced by stars. What is the
sum of the missing digits?

3TNV nio KaTw nNpooBeaon, kanoia and Ta yneia avTikataoTnénkav pe actepdakia. Moio
gival To abpoiopa Twv YnPiwv nou Asinouy;

1x2

+1%3
1x4

(A0 B)1 (©) 2 (D) 3 (E) 10
What is the difference between the smallest 5-digit number and the largest 4-digit
number?

Moia €ival n dilapopd PeTa&l Tou PIKPOTEPOU MevTayn@iou apiBpoU Kal Tou
MEyaAUTEpoOU TETpaAWn@Iou apibuou;

(A) 1 (B) 10 () 1111 (D) 9000 (E) 9900
A square of perimeter 48 cm is cut into 2 pieces to make a rectangle (see picture).
What is the perimeter of the rectangle?

'Eva TeETpAywvo HE NEPIPETPO 448cm KOBETAI O€ 2 KOUKATIA YIA va KAVEl Eva opBoywvio
(koiTa TNV €Ikova). Mola €ival n NEPIPNETPOG Tou opBoywviou;

(A) 24 cm (B) 30 cm (C) 48 cm (D) 60 cm (E) 72 cm

Katrin has 38 matches. She builds a triangle and a square, using all the matches. Each
side of the triangle consists of 6 matches. How many matches are in each side of the
square?

H Katrin €xel 38 onipta. Kataokeualel éva Tpiywvo Kal Eva TETPAYwVO XPNOILONOoIWVTaAG
OAa Ta onipTa. Kabe nAeupda Tou TpIywvou NePIEXEl 6 onipTa. Ndoa onipTa undpyouv os
KABe NAeupd TOU TETPAYWVOU;

(A)4 (B)5 €6 (D)7 (E)8
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8.

10.

The pearl necklace in the picture contains dark grey pearls and shiny white pearls. Arno
wants to have 5 of the dark grey pearls. He can only take pearls from either end of the
necklace, and so he has to take some of the white pearls also. What is the smallest
number of white pearls Arno has to take?

To papyapITapevio KOAIE TNV €IKOvVa NEPIEXEI okoUpa ykpila papyapiTapia kai Aaunepa
Aeukd papyapitapia. O Arno B€Ael 5 and Ta okoUpa ykpila papyapitapia. Mnopei va
napel papyapiTapia povo ano TIiG dUO AKPEC TOU KOAIE KI £TOI MPENEI va NAPEI Kal JePIKA
ano Ta Aeuka papyapitapia. Moiog ival o HIKPOTEPOC apIBHOC AEUKWV HapyapITapiwv
nou avaykaderal va napel o Arno;

s 0, 000 ' 0 ¢ 00 | 00 o
(A) 2 (B) 3 €4 (D)5 (E) 6
Harry participated in a broom flight contest which consisted of 5 laps. The times when

Harry passed the starting point are shown in the picture. Which lap took the shortest
time?

Time (A) the first (Tov np®TO)
start | 89:55 (B) the second (To deUTEPO)

after lap 1| 10:26 (C) the third (Tov TpiTO)

after lap 2| 10:54 (D) the fourth (Tov TéTapTto)

after lap 3|11:28 (E) the fifth (Tov néunTo)
after lap 4| 12:03

after lap 5| 12:32

O Hurry ouppeTeixe 010 dIaywVIONO TNG INTAKEVNG OKOUNAG NOU AnoTeAEITO ano 5
yUpOUG. TNV Mo KATw €IKOVA (paivovTal ol PopPEC Nou o Hurry népace anod To onyeio
€kkivnong. Moio yUpo kAAuye oTo AlyOTEPO XpOVo;

'Qpa (A) Tov NnpwTO

Exkivnon | 09:55 | (B) To deUTepO

MeTa Tov 1° yUpo | 10:26 | (C) Tov TpiTO

MeTd Tov 2° yUpo | 10:54 (D) Tov TETAPTO

Metd Tov 3°ypo | 11:28 | (E) tov néunto
MeTd Tov 4° yupo | 12:03

MeTa Tov 5° yupo | 12:32

Ben's digital watch is not working properly. The three horizontal lines in the rightmost

digit on the watch are not displayed. Ben is looking at his watch and the time has just

changed from the one shown on the left to the one shown on the right. What time is it
now?

To wneiakd poAdl Tou Ben dg Aeiroupyei cwoTd. O1 TpEIG opI{OVTIEG YPAMUESG OTO MIO
Oe&16TEPO TOU pohoyiou dev eugavidovral. O Ben koiralovTac To poAdl Tou dIanIoTWVEI
OTI N WPa €xel HOAIC aAAGEel and auTr) Nou QPaiveTal apIoTEPA G AUTH NOU PaiveTal oTd
0g€1a. Ti wpa €ival Twpa;

2y i—HaH

(A) 12:40 (B) 12:42 (C) 12:44 (D) 12:47 (E) 12:49
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4 point problems - 0¢para 4 povadwv

11.

12.

13.

Which tile must be added to the picture so that the white area is as large as the black
area?

Moia NAdka NpéEnel va NnpooTedel 0TO KEVO €TOI WOTE TO AEUKO €URAdO va gival TOoo 600
Kal To paupo gupado;

XN
AV |
Xd-

(A) D (B) . © m (D) ‘2 (E) It is impossible - Eivar adUvaTov

Henry and John started walking from the same point. Henry went 1 km north, 2 km
west, 4 km south and finally 1 km west. John went 1 km east, 4 km south and 4 km
west. Which of the following must be the final part of John’s walk in order to reach the
same point as Henry?

O Henry kai o John &kivnoav va nepnatouv ano To idio onueio. O Henry niye 1 xAY
Bopela, 2 xAu OUTIKA, 4 xAW vOTIa kal 0To TEAOG 1 XAp duTikd. O John nnye 1 xAu
avaTtoAika, 4 XA voTia kal 4 AW duTikd. Molo and Ta napakdtw 6a npénel va ival To
TeheuTaio nepndatnua Tou John, yia va @Tacel oTo idlo onyeio e Tov Henry;

(A) He has already reached the same point - 'Exel A1dn ¢Tacel oTo id10 onyeio
(B) 1 km north - 1 xAu Bopeia

(C) 1 km north-west - 1 XA BopeIodUTIKA

(D) More than 1 km north-west - MepioooTEPO and 1 AU BopeloduTIKa

(E) 1 km west - 1 xAu OuTIKQ

At the summer camp, 7 pupils eat ice cream every day, 9 pupils eat ice cream every
second day and the rest of the pupils don't eat ice cream at all. Yesterday, 13 pupils
had ice cream. How many pupils will eat ice cream today?

Katd Tnv Bepivr) kKaTaoknvwon, 7 JadnTeg TpwVe NaywTo KAOs Pépa, 9 pabnTéc Tpwve
naywTod kabe deUTEPN WEPA Kal oI UNOAoINol HabnTEC Oev TPWVE NAywTO NoTe. XOeg, 13
padnTeC épayav naywTo. Nocor pabnTég Ba pave NaywTo onuEPa;

(A)7 (B) 8 ©9

(D) 10 (E) it cannot be determined(dev pnopei va npocdiopioTei)
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14. Kangaroos A, B, C, D and E are sitting in that order, clockwise, around a circular table.
Exactly when the bell rings, each kangaroo except one exchanges its position with a
neighbour. The resulting positions, clockwise and starting with A, are A, E, B, D, C.
Which kangaroo did not move?

Ta kaykoupo A, B, C, D kai E kGBovTal pe auth T osipd, 6e€100Tpopa, yUpw ano &va
OTPOYYUAO Tpanédl. MOAIC xTundel To koudouvi, kaBe kaykoupd ekTOC €va avTaAAaooEl
Tn 6€on Tou pe Tov diInAavo Tou. O1 TEAIKEG BETEIC Nou NpokunTouv, OeEI00TPOPA Kal
EekivwvTacg pe 1o A, gival A, E, B, D, C. Moid kaykoupd dev KIVABNKE;

(A) A (B)B ©C (D)D (B)E

15. A square can be formed using four of these five pieces. Which one will not be used?

'Eva TeETpAywvo PNopei va aXNHATIOTEN XpNOIKONOIWVTAG TECOEPA ANO TA NEVTE AUTA
KoupaTia. Moio dev Ba xpnoiponoinBei;

Ll

(A) A (B) B ©C (D) D (E) E

16. A natural number has three digits. When we multiply its digits we get 135. What result
do we get if we add the digits?

'Evac ¢uoikdg apiBuog Exel Tpia wneia. ‘'Otav noAAanAacidcoule Ta yneia Tou
naipvoupe 135. Ti anoTéAeopa Naipvoupe av NPooBECOUNE TA Yngia Tou;

(A) 14 (B) 15 (C) 16 (D) 17 (E) 18

17. In a restaurant there are 16 tables, each having either 3, 4 or 6 chairs. Together, the
tables having 3 or 4 chairs can accommodate 36 people. Knowing that the restaurant
can accommodate 72 people, how many tables are there with 3 chairs?

2 €va €0TIATOPIO UNApXouv 16 Tpanedia, nou To Kabéva xel €ite 3, 4 1 6 KAPEKAEG.
Madj, Ta Tpanédia nou £xouv 3 1 4 KapeKAEC pnopolv va PIAoEevrioouv 36 AToua.
MvwpidovTtag 0TI To €0TIATOPIO PNOpPEl va PIAoEevNoel 72 dToua, nooa Tpanedia
unapxouV e 3 KApEKAEC;

(A) 4 (B) 5 €6 (D)7 (B)8
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18. The points 4, B, C, D, E, F are on a straight line in that order. We know that
AF =35, AC =12, BD =11, CE = 12 and DF = 16. What is the distance BE?

Ta onueia 4, B, C, D, E, F BpiokovTal O pia €uBsia ypaupn Y auTn Tn ogipd. =£POUlE
OTI AF = 35, AC = 12, BD = 11, CE = 12 kai DF = 16. Moia ivai n anootaon BE;

(A) 13 (B) 14 (©) 15 (D) 16 (E) 17

19. Parisa set her stones in groups on the desk. After she arranged the stones in groups of
3, she found that there were 2 stones left. Then she arranged the stones in groups of 5,
and again there were 2 stones left. At least how many more stones does she need so
that there won't be any left when she arranges them in groups of 3 and in groups of 5

H Parisa poipaoe TIG NETPEG TNG 0€ OPAdEC NAVW OTO YpaPeio. APoU KAVOVIOE TIC NETPEC
0€ OMAdEC TV 3, avakAAUWE OTI EPeElvav 2 NETPEC NEPIOOEUNA. 2T OUVEXEID, Hoipaoe
TIG NETPEC O OUADEG TWV 5, kal NAAI EpElvav 2 NETPEC NEPIOTEUA. TOUAAYIOTOV NOCEC
NEPIOTOTEPEC NETPEG XPEIAleTal, £TOI WOTE va PNV unap&el kayia nepioosupa oTav Tig
HoIpalel o ouadec Twv 3 Kal 0€ OPAdEG TWV 5;

(A) 3 (B) 1 (C) 4 (D) 10 (E) 13

20. The faces of a cube are numbered 1, 2, 3, 4, 5, and 6. The faces 1 and 6 have a
common edge. The same is true for faces 1 and 5, faces 1 and 2, faces 6 and 5, faces 6
and 4, and faces 6 and 2. Which number is on the face opposite the one with number
4?

O1 enipavelec Tou kUBou apibuouvTal 1, 2, 3, 4, 5, kai 6. O1 emipaveleg 1 kal 6 €xouv Hia
KoIvR akun. To idio 1oxUel kal yia TiG empaveieg 1 kai 5, 1 kai 2, 6 kai 5, 6 kai 4, kai 6
kai 2. Moiog apIBudG eival oTnv enipavela anevavTi and Tov apiBpo 4;

(A)1 (B) 2 ()3

(D) 5 (E) it cannot be determined (8ev pnopei va npoadiopIoTEi)

\ 5 point problems - 8¢para 5 povadwv

21. The 3 x 3 x 3 cube in the picture is made of 27 small cubes. How many small cubes do
you have to take away to see the following result when looking from the right, from
above, and from the front?

O 3 x 3 x 3 kUBog oTnV €IkOva anoTteAsital and 27 PIkpoug KUBOUC.
Moooug pikpoUG KUBoUG NpeEnel va BYAAeIg yia va €XEIC TO NAPakATw
anoTéAeopa, otav BAéEnoupe and Ta 8e€ia, anod Navw, kai anod PnpooTd;

(A)4 (B)5 €6 (D)7 B9
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22,

23.

24,

There are 5 songs: song A lasts 3 min, song B 2 min 30 s, song C 2 min, song D 1 min
30 s, and song E 4 min. These 5 songs are playing in the order A, B, C, D, E in a loop
without any breaks. Song C was playing when Andy left home. He returned home
exactly one hour later. Which song was playing when Andy got home?

Yndpyouv 5 Tpayoudia: To Tpayoudi A diapkei 3 AenTd, To Tpayoudi B 2 Aenta kai 30
deuTepoAenTa, To Tpayoudi C 2 Aentd, To Tpayoudi D 1 AenTd kai 30 deuTeEPOAENTA Kal
To TpayouUd E 4 Aentd. Auta Ta 5 Tpayoudia naifouv pe Tn o€ipd A, B, C, D, E xwpic
navoeic. To Tpayoudi C énaile 0Tav n Andy Epuye ano To oniTl. EnéoTpeywe oTo oniTl
akpIBwc pia wpa petd. Moio Tpayoudi énaile dTav n Andy enéoTpeye oniTi;

(A) A (B) B ©C (D) D (E) E

Dan entered the numbers 1 to 9 in the cells of a 3x3 table. He began by placing the
numbers 1, 2, 3 and 4 as shown in the picture. It happened that for the number 5, the
sum of the numbers in the adjacent cells (having a common side) is equal to 9. What is
the sum of the numbers in adjacent cells to the number 6?

O Dan £BaAe Touc apiBuouc 1 €wc 9 oTa kehid evog nivaka 3x3. Zekivnoe Pe TNV
TONOBETNON TwV apiBuwv 1, 2, 3 kal 4, 6nwc eaiveTal oTnv €ikova. AIanioTwOnKe OTI
yla Tov apibuo 5, To abpoliopa Twv apIBPWV O YEITOVIKA KEAIAQ (MOU £XOUV Wia KoIvh
nAeupaq) eival ioo Pe 9. Moo €ival To aBpoioua Twv apIBPwV OTa YEITOVIKA KENIA ToU
apibuou 6;

2| {4

(A) 14 (B) 15 (C) 17 (D) 28 (E) 29

Trees grow on only one side of Park Avenue. There are 60 trees in total. Every second
tree is a maple, and every third tree is either a linden or a maple. The remaining trees
are birches. How many birches are there?

Ta devTpa peyahwvouv Povo and Tnv pia nAeupd Tng Park Avenue. ZuvoAika unapxouv
60 devTpa. KaBe deUTepo BEVTPO cival oPevdapl, kal KABE TPITO DEVTPO €ival €iTe
(pAapoupida ) o@evdaul. Ta undhoina dévtpa sival onuUdeG. MNooeg onUUOEG UNApPXOUV;

(A) 10 (B) 15 (C) 20 (D) 24 (E) 30
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25.

26.

27.

A thin colourful ribbon is stuck on a transparent plastic cube (see the picture). Which of
the following pictures doesn't show the cube from any perspective?

Mia AenTr) noAUxpwin KopdEéAa £xel KOANOEI 0€ €va dlapaveg NAAoTIKO KUBo (deiTe TNV
€1kova). Moia ano TIC NApakaTw pwToypaPiec dev deixvel TOV KUBO anod onoladnnoTe
NPOONTIKR;

(A) (B)

©
(D) (E)

The king and his messengers are travelling from the castle to the summer palace at a
speed of 5 km/h. Every hour, the king sends a messenger back to the castle, who
travels at a speed of 10 km/h. What is the time interval between any two consecutive
messengers arriving at the castle?

O Baai\iag kai o1 ayyeAiagopol Tou Ta&ideUouv anod To KAoOTPO OTO BEPIVO avAKTOPO HE
TaxutnTa 5 km/h. Kabe wpa o BaciAiag aTéAvel Evav ayyeAlapopo niow oTo KAoTPO, O
onoiog Ta&idevel pe TaxutnTa 10 km/h. Molo €ival To Xpoviko diaoTnua Peta&l duo
O1adoXIKWV ayyeANIapOpwy Nou pTAvVOUV GTO KAOTPO;

(A) 30 min - 30 AenTa (B) 60 min - 60 AenTd
(C) 75 min - 75 AenTa (D) 90 min - 90 AenTd
(E) 120 min - 120 AenTa

There were 3 one-digit numbers on the blackboard. Ali added them up, and got 15.
Then he erased one of the numbers and wrote the number 3 in its place. Then Reza
multiplied the three numbers on the blackboard and got 36. What are the possibilities
for the number that Ali erased?

Ynnpxav 3 povoyn@iol apibuoi otov nivaka. O Ali Touc npooBeoe kai Bprke 15. 3Tn
OUVEXEIQ €0BNOE €vav and Toug apiBPouc kal Eypaye Tov aplBud 3 otn B€on Tou. MeTQ,
n Reza noAanAaciace Toug 3 apiBuouc aTov nivaka kai Bpnke 36. Moloi ival ol niavoi
apiByoi nou £ofnoe o Ali;

(A) either6or7-T061 7107 (B) either 7or8-107 1170 8
(C) only 6 - povo 10 6 (D) only 7 - pévo 1o 7
(E) only 8 - povo 10 8
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28.

29,

30.

Rabbit Vasya loves cabbages and carrots. In a day, he eats either 9 carrots, or 2
cabbages, or 1 cabbage and 4 carrots. But some days he only eats grass. Over the last
10 days, Vasya ate a total of 30 carrots and 9 cabbages. On how many of these 10 days
did he eat only grass?

>TO KOUVEN Vasya apéoouv Ta Adxava kal Ta KapoTa. Z€ Jia YEpa Tpwel €iTe 9 kapdTa
€iTe 2 Aaxava, ite 1 Aaxavo kai 4 kapdTa. ‘'Opwe, KAMNOIEG PEPEC TPWEI HOVO XOPTa.
Katd Tig TeAeuTaieg 10 pEPEC TO KOUVEN Vasya €paye auvolika 30 kapoTa kai 9 Adxava.
>€ nooec ano TIC 10 PEPEC Epaye HOVO XOPTA;

(A)O (B)1 (©) 2 (D)3 (E) 4

In Fabuland, every sunny day is immediately preceded by two consecutive rainy days.
Also, five days after any rainy day, it is another rainy day. It is sunny today. For at
most how many days can we predict the weather with certainty?

>1n Fabuland,oe kG0 nA\iGAouoTn PEPa nponyoUvTal U0 CUVEXOUEVEG BPOXEPES MEPEC.
Eniong, névre pEPeC PETA ano onoladnnoTe Bpoxepn MEPQA, €ival Yia akopn Bpoxepn
MEPA. Znuepa exel Aiakada. Ma nooeg HEPEC TO MOAU HNOPOUE va NPOBAEYOULE TOV
Kaipo PE BeBaloTnTa;
(A) 1 day - 1 pépa
(B) 2 days - 2 pEpeg
(C) 4 days - 4 pépeg
(D) We cannot predict even one day ahead

Ogv pnopouUpE va nNpoBAEWoupe oUTE Wia nuépa
(E) We can predict the weather every day from here on

MnopoUpe va npoBAEWoUE Tov Kaipd kaBe pEpa anod 0w kai nEpa

Granny has 10 grandchildren. Alice is the eldest. One day, Granny notices that her
grandchildren all have different ages. If the sum of her grandchildrens' ages is 180,
what is the smallest age Alice could be?

H yiayia €xer 10 eyyovia. H Alice sival n peyaAUTtepn. Mia pépa, n yiayid napatnpnoe oTi
OAa TNG Ta eyyovia xouv dIAPOPETIKECG NAIKIEC. Av TO ABPOICHA TwV NAIKIOV TV
gyyoviov Tng givar 180, noia eivar n pikpoTEPN nAikia nou Ba pnopouoe va €xel n Alice;

(A) 19 (B) 20 (C) 21 (D) 22 (E) 23
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